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WARM­UP...

Finding the Equation of a Line

Method #1:  Slope ­ Y Intercept Method

y = mx + b

Need:  (1)  the slope & (2) the y­intercept

Example... Determine the equation of a line that passes through the  
                      point (0, ­5) and is perpendicular to the line 2x + 3y = 6.
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YOUR TURN...
1.  Determine the slope, the x intercept and the y intercept of the following line...
6x ­ 3y + 9 = 0

b)

2.  Determine the equation for each of the following lines...
     Put the equation in the slope ­ y intercept form.

a)  passes through the points (­4, 6) & (0, ­8).

Graphing Lines using intercepts

Two worksheets...

Solving for x and y­intercepts then graphing

p. 362 #7, 15, 21

Complete puzzle sheets from last week.
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Page 3 of the worksheet...



Attachments

Graphing lines using intercepts.pdf

Solving for X and Y Intercepts Graphing.pdf
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Algebra 1


Graphing Lines Using Intercepts


Name___________________________________


-1-


Sketch the graph of each line by plotting the x and y-intercepts.


1)  x-intercept = 4, y-intercept = −2


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


2)  x-intercept = 3, y-intercept = 2


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


3)  x-intercept = −1, y-intercept = −4


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


4)  x-intercept = 4, y-intercept = −3


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6
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5)  x-intercept = −4, y-intercept = −1


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


6)  x-intercept = 4, y-intercept = −1


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


7)  x-intercept = 3, y-intercept = −2


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


8)  x-intercept = −4, y-intercept = 5


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


9)  x-intercept = −3, y-intercept = −2


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


10)  x-intercept = −5, y-intercept = 3


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6
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11)  x − 2y = 6


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


12)  3x − 2y = −2


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


13)  3x + 2y = 4


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


14)  x + 4y = 4


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


15)  4x + y = −1


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


16)  5x + 2y = −10


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6
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17)  x + 5y = 10


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


18)  x − 4y = 12


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


19)  x + 3y = 6


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6


20)  2x + 5y = 10


x


y


−6 −5 −4 −3 −2 −1 1 2 3 4 5 6


−6


−5


−4


−3


−2


−1


1


2


3


4


5


6
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Answers to Graphing Lines Using Intercepts
1)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


2)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


3)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


4)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


5)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


6)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


7)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


8)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


9)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


10)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


11)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


12)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


13)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


14)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


15)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6
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16)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


17)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


18)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


19)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6


20)  


x


y


−6 −4 −2 2 4 6


−6


−4


−2


2


4


6
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Algebra 1


Extra Practice - X and Y intercepts


Name___________________________________  ID: 1
©H g2h0L1P4V VKOustSaA XSXotfNtlwWakrMed DLYLkCv.Y m aAWlelg Wruirg^hntfs\ wruetsNe^r`vhezdT.


-1-


Find the x and y intercepts and graph the line.  Your x and y intercepts MUST be written as a
point.


1)  4x + 5y = 20


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


2)  2x + y = 2


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


3)  2x - y = -4


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


4)  x - 2y = 8


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6
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5)  2x + y = -4


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


6)  x - y = 5


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


7)  x + 2y = -2


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


8)  x + y = 5


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


9)  5x + 4y = 20


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


10)  x - y = 4


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6
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11)  3x - 5y = 15


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


12)  3x - 2y = 6


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


13)  x + y = 1


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


14)  x + 2y = 6


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


15)  x + 4y = -4


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


16)  x + y = -5


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6
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Algebra 1


Extra Practice - X and Y intercepts


Name___________________________________  ID: 1
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Find the x and y intercepts and graph the line.  Your x and y intercepts MUST be written as a
point.


1)  4x + 5y = 20


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


2)  2x + y = 2


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


3)  2x - y = -4


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


4)  x - 2y = 8


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6
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5)  2x + y = -4


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


6)  x - y = 5


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


7)  x + 2y = -2


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


8)  x + y = 5


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


9)  5x + 4y = 20


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


10)  x - y = 4


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6
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11)  3x - 5y = 15


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


12)  3x - 2y = 6


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


13)  x + y = 1


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


14)  x + 2y = 6


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


15)  x + 4y = -4


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6


16)  x + y = -5


x


y


-6 -5 -4 -3 -2 -1 1 2 3 4 5 6


-6


-5


-4


-3


-2


-1


1


2


3


4


5


6
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